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1. The color rendering index affects the reproducibility of the image, and when the color rendering
index is low, the color of the image will deviate greatly from the original image. ( )

A. False

B. True

Answer(s): B

2. Under the video service, for public network calls to the private network can be changed to
private network calls to the public network, the public and private network traversal technology
used is generally ( ).

A. ALG

B. H.460

C. SNP

D. NAT

Answer(s): D

3. Here are a few ways to create a video IVR meeting ( ).

A. Calls the IP address of the GK and creates a meeting based on the IVR prompts

B. Call the IVR access number back and create a meeting based on the IVR prompts

C. Call back to the IP address of the ucU, create a conference

D. Call Conference Access Number for Four Calls, according to the IVR Prompt to create a meeting



Answer(s): A,B,C,D

4. The terminal can send the conference content and the active image to the remote venue
through the dual-stream desktop transmission function, and the desktop transmission format is
directly consistent with the resolution size of the VGA input, which can support up to 1280*1024
The resolution of the desktop is sent.

A. False

B. True

Answer(s): B

5. The IP header in the ACF message does not contain any of the following information ( ).

A. Callee CS addr

B. Callee Number

C. Caller RAS addr

D. GK RAS addr

Answer(s): A,B

6. Under static NAT networking, the signaling description of the public network terminal calling the
private network terminal is correctly ( ).

A. The DST address is the NAT address of the private endpoint

B. Callee CS addr is the NAT address

C. The Caller CS Addr address is the NAT address of the private network terminal

D. The DST address actually processed by the firewall is the private network terminal address

Answer(s): A,B,D



7. The H.460 protocol specifies that H.323 signaling parts of the public-private network traversal
are handled. ()

A. H.460.21

B. H.460.20

C. H.460.18

D. H.460.19

Answer(s): C

8. If both the sender and receiver () are the same, the MCU forwards directly. (3 answers).

A. Type

B. Wide

C. format

D. Video Protocol

Answer(s): B,C,D

9. An MCU can belong to only one service area, but a service area can have multiple MCUs.

A. False

B. True

Answer(s): B

10. Which of the following represents the meaning of the response message 3xx?



A. The request message has been received and is being processed

B. A forward-step action must be used to complete the request

C. Indicates that the SIP server failure could not complete the processing of the correct message

D. The request was received, processed, and successfully accepted by

Answer(s): A

11. Which of the following belongs to the extension request (). (3 answers).

A. NOTIFY

B. MESSAGE

C. PUBLISH

D. OPTIONS

Answer(s): A,B,C

12. The gatekeeper issues an address resolution request to other gatekeepers, which signaling
can implement this function. ( )

A. GRQ

B. RRQ

C. LRQ

D. URQ

Answer(s): C



13. For the relationship between the camera and the background, why can't there be too complex
background? ( )

A. The camera's AF function automatically focuses on areas with higher edge energy, and too complex
backgrounds are easy to make the camera focus on the background and create a blurred foreground

B. Complex backgrounds occupy more transmission bandwidth, affecting the codec effect of the
background.

C. Complex backgrounds occupy more transit A-lodge bandwidth, affecting the foreground of the
decoding effect.

D. The camera's AF function automatically focuses on areas with high edge energy, and too complex
backgrounds are easy to make the camera focus on the foreground and create a background blur.

Answer(s): C,D

14. When 2 MCUs are cascaded, a meeting is scheduled, and the upper and lower MCU join the
meeting as a virtual venue. ( )

A. False

B. True

Answer(s): B

15. The response message is 3XX for ().

A. The request message has been received and is being processed

B. The request was received, processed, and successfully accepted

C. Indicates that the SIP server failure could not complete the processing of the correct message

D. Further action is required to complete the request

Answer(s): D



16. The INFORMATION that the IP header in the SETUP message does not contain Is there? ( )

A. Callee CS addr

B. Caller CS addr

C. Caller RAS addr

D. GK RAS addr

Answer(s): B,D

17. mode, communication between public and private network devices is supported, and data
does not need to go through a firewall.

A. capture filter

B. Ride the wallWireshark's () filter discards packets that do not meet the filter criteria during packet
grabbing, leaving only packages that meet the filter criteria.

Answer(s): A,B

18. The SIP protocol is an application-layer protocol.

A. False

B. True

Answer(s): B

19. In the SIP protocol, when the response message is "1xx", it means that the request message
has been received and is being processed.

A. False

B. True



Answer(s): B

20. The MCU supports ( ) web users logging in at the same time.

A. 1

B. 3

C. 2

D. Multiple

Answer(s): D


